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2𝑥 + 3 = 7 

2𝑥 = 7 – 3 

2𝑥 = 4 

𝑥 = 4 ÷ 2 

𝑥 = 2  

3𝑥 + 2 = 14 

3𝑥 = 14 – 2 

3𝑥 = 12 

𝑥 = 12 ÷ 3 

𝑥 = 4  

4𝑥 + 3 = 23 

4𝑥 = 23 – 3 

4𝑥 = 20 

𝑥 = 20 ÷ 4 

𝑥 = 5  
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3𝑥 + 1 = 7 

 

 

 

 

3𝑥 + 1 = 7 

3𝑥 = 7 – 1  

 

 

 

3𝑥 + 1 = 7 

3𝑥 = 7 – 1  

3𝑥 = 6 
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31 = 3𝑥 + 7  

3𝑥 = 31 – 7 

3𝑥 = 24 

𝑥 = 24 ÷ 3 

𝑥 = 8  
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22 = 4𝑥 + 3  

4𝑥 = 22 – 3 

4𝑥 = 19 

𝑥 = 19 ÷ 3 

𝑥 = 4.75  
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5𝑥 – 3 = 27 

5𝑥 = 27 + 3 

5𝑥 = 30 

𝑥 = 30 ÷ 5 

𝑥 = 6  

7𝑥 + 17 = 3 

7𝑥 = 3 – 17 

7𝑥 = -14 

𝑥 = -14 ÷ 7 

𝑥 = -2  

92 = 10𝑥 – 7  

10𝑥 = 92 + 7 

10𝑥 = 99 

𝑥 = 99 ÷ 10 

𝑥 = 9.9  
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4𝑥 – 3 = 33 
4𝑥 = 33 + 3  

4𝑥 = 36 
𝑥 = 36 ÷ 4 

𝑥 = 9  
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f
f

A portion of bread costs €___. 
 
A bowl of soup costs 7 + 2.5 = €___. 
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7y + 1 

17 cm 
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5y + 2 

? 
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If Bumble is thinking 

of a number, doubles 

it and adds three 

and the answer is 4, 

she is thinking of 2. 


